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Here, 3= JB_.'H +:;7
Let B is any wvector parallel to P

So, b = Az {where 2 is any scalar)
2(8 43
B= A+ 4]
|- J[eB) + (2)°
= 327+ 27
= 4427
B|= 22
4=241
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A
A

= A3+ 4]

= 230+ 2]
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(i) Here, A =(4,-1)
& =(1,3)

Position vector of A = 4 - }

Position vector of 8 = 1 + 3}

A E = Position vectar of & - Position vectar of 4

-.Jo+1ie
N

|A5|=5

AE = -3i+4]

(iiy Here, A = (-6, 3)
g =[-2,-5)

Position vector of 4 = -6/ + 3}

Position vector of & = -21 - 5:;3

ﬁ = Position vector of & - Position vector of 4
- (-2?‘ - 5}) - (-6?+ 3})
= -2 - 5] +6i-3]

AE = 4i - 8)
|A5| (4)% + (-8)°
= 16 + 64
- B0
=165
- 4fE
|A5| 45
AB = 4 - 8]
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Here, A=[-1,3)
8 =[-2,1)

Position vectar of A = —.?+3:;'?

Position wvector of & = —2?+1j

A E = Position vector of & — Position vector of 4
(—2? + }) - (—? + 3})

—2?+}+?—3}

S

S0,

Coordinate of the position vector equivalent to AB = [—1,—2]
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Here, A=({-2-1)

& = (3,0

C=(1,-2)
Let D =[x, v)

A E = Position vectar of & - Pasition vector of A
- (3?-Dx})-(-2?-})
B -Oxj+20+]

AE =5+ ]

DT = Position vector of € - Position vectar of O
= (.T - 2}) - (X.?+ y})
= .? - 2} - X.? - y}
DC = [1—X]?+[—2—y]j
Since ABCD is a parallelogram, which have equal and parallel opposite sides.
S0, ﬁ = E

S+ =[1—X].?+[—2—y]j

Comparing compaonents af LHS and RHS

S=1-x%
x=1-5
N =-%
1=-2-v
w==-2-1
W= -3

So, coordinate of O is {-4,-3)
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Here, A(3,4),8(5-6),C(4,-1)

3=3+4j
b=5i-6]
C=d4i-]

I o,

2+2b-3C= (3?+43)+2(5?‘E‘})‘3(4j'j)
=3 +47 107 - 127 - 127 +3]

=i-5

L a+2h-3%=i-5]
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|A_.§|= 5 units
2)- Jor
|B_5|= 2 units
[AC]= J(-3) +(8)°
e
. EE
|A_L:|= S units

Here, |A_§|= |A_5|
E=5&

So, there are two sides AB,and EC of AAEC have same length.

AABC is an isosceles triangle.
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Let3=?+«,.'53_:;'?
Suppose bis any vector parallel to 3

=iz where 4 is a scalar
- afi+ 57

5=1J’+ﬁij

= f422
=21
Unit vector of & = i
Pl
P FYIANCY N
24
k."+\|f§j)
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(i) Here, £ =[3 2]

Position vector of @ = 3 +2}

Component of £ along x-axis = e

Component of £ along y-axis = 2}

(iiy Here, @ =(-5,1)

Position vector of @ = -5 +:;3

Component of ¢ along x-axis = -

Component of ¢ along y-axis = j

(iiy Here, & ={-11,-9)

Position vector of 8 = 11/ - 9}

Component of & along x-axis = -11

Component of & along y-axis = —9}

(iv) Here, & ={4,-3)

Position vector of & = 4/ - 3}

Component of & along x-axis = 4

Component of 5§ along y-axis = —3}





